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1.: ;:All questions are compulsory
2.A A..The question paper consists of 29 questions divided in to three sectlons A,BandC.
3 ;},Qucstlon numbers 1 to 10 are of 1 mark each, Question numbers 11 to 22 are of 4 marks each
and Question numbers 23 to 29 are of 6 marks each.
4. All the questions in section A are to be answered in one word, one sentence or as per the exact
‘requirement of the question.

5. This question paper contains 3 printed pages

1. IfA ={ab,c,d} and B={c, d, ¢, f, g}, find A- B

2. Find the domain of f(x) =v16 — x’
sin3x

3. Evaluate lim
I x-»08indx

4. Differentiate —————-i- with respect to x
~ X+

5. Find the modulus of the complex number 2——1—5—
. —2i
10

P x
6. Fiﬁd't-ihe middle term in the expansion of (’3‘ +9y )

Fmd t;he equation of a line passing through (2,2) and (-1,3)

Three vertices of a parallelogram are (1,2,-3),(3,-1,0) and (3,-2,1). Find the fourth vertex

Write the contra positive of the statement ‘If a number is divisible by 9, then it is divisible by 3”
0 Wnte the negatlon of the statement “Everyone in France speaks French”

""‘05”.\’

SECTION B
11. IfA - {1,2,3,4,5) B= {1,3,5,8}and C = {2,5,7,8} Verify that A-(BUC) = (A-B) N(A-C)




12. In a survey of 75 people it was found that 30 read newspaper A,26 read news paper B and 28 read
news paper C. If 9 read A&B,11 read newspaper A and C 8 read B and C and 3 read all the three

newspapers. Find
1) Number of people who read at least one of the newspapers
_-2) Number of people who read exactly one newspaper
. 3) How many read newspaper C only
13. If f= {(1,5),(2,7}be a function from Z to Z given by f(x) =ax +b findaandb
2

14. Find the range of the function f(x) = Ii_z ; XeR by giving proper explanation.
: +x

15. Find the general solution of cos3x + cos x —cos 2x =0
‘ OR
If tanA =k tanB, show that sin( A + B )= %ii-sin( A-B)
16. Prove the following by the principle of mathematical induction, for any natural number r

Ll "
35 57 79 77 (2n+1)2n+3) 3(2n+3)

17. Find sum to n terms of the sequence 0.8 + 0.88 + 0.888 + 0.8888+.........
OR

Find sum to n terms of 3 X 1%4+5 X 2247 X 3%+...............

n n

18. Find the value of n such that —:1_1+—1b)n_lis the Geometric mean between a and b
o a" +
OR
T}ie sum of the first p terms of an AP is equal to sum of the first q terms, Find the sum of the first
(p +:q) terms
19. F_i'hd; the equation of the lines through the points (3,2) which make an angle of 45° with
the line x-2y =3
20. Find the equation of a hyperbola having foci at (0, V10 ) and passing through (2,3)
21. F‘i,ﬂnd“‘ihe points on the y axis which are at a distance of 5 2 from the points (3,-2,5)

22. Evaluate lim ——S0%
P x—)% (” —2x)

OR
Find derivative of cos x by first principle
: Section C

23. If tanx = -g— and x in second quadrant, find the values of sinx/2,cosx/2 and tan x/2

e OR
If tan (@ +6)=ntan(a —6), Showthat (n+1)sin 26 =(n-1) sin 2a




24. Find the Mean and variance of the following data

classes | 0-30 30-60 60-90 90-120 120-150

150-180 | 180-210
frequencies| 9 17 43 82

81 44 24
25. Two students A and B appeared in an examination and their respective probabilities of qualifying in

the examination 0.2 and 0.15.The probability that both will qualify the examination is 0.05. find the
probability that

i) Both A and B will not qualify the examination
ii) At least one of them will not qualify for the exam
iii) Exactly one of them will qualify the examination

26.2x+y <24;x+ y <11, 2x+y<40,x>0,y > 0,solve graphically

27. Show that the middle term in the expansion of (1+x )*" is 1'3’5'7"""(2'” —D2'x
v n!

OR

The second, third and fourth terms in the binomial expansion of (x + a)" are 240,720, and 1080,
respectively. Find x, a and n
28. Convert il into polar form

T .. T
cos—+isin—
29. Find the number of permutations of the letters of the world INDEPENDENCE. In how many of
these arrangements
iy . Do the words start with C
iy . Do all the vowels occur together

iii) Do the vowels never occur together
ivy-- Do the words begin with I and end in P

OR

A group consists of 4 girls and 6 boys. In how many ways can a team of 4 members be selected
if the team has

-a) At most 2 girls b) at least one boy and one girl c) at least 2 girls

wshe(p 4. meb‘g + Lom




